a0 4 6x - 5+ (- 3) equals

-‘ e degree of the quotient of the divison (¢ 1%




Question No. 10

Which of the following statements is always true.
=

The graph of a quadratic function is a straight line.
The graph of a quadratic function passes through the point (0, 0).

The range of a quadratic function is the set of all real numbers

The axis of symmetry passes through thewvertex







Question No. 6

a(r/

Ifﬂx) s —: and U(Y) e

x € (-0, ~5) U 2,)

‘_
\
x € (0, ) L
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“The soluti tofthe g equation:| 2 -x|={ 3x-2| is
© (o :
o o1 \ L

2-¥=3y-2 | Z-A=-3x 42

~X=3x=-2-2 | -2¢482=02-2
-</)L ——“c/ 2%2 O

ES | oo

ey
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VR IOTRONAL e miorsects (ho giaph at most once

VALY VTR 0 ORI 10 QLaph At most once

VY IR Boe b s QPN e

I MOOsects e graph twie










Question No. 21

1t x4 s  factor of the polynomil f(x) then

f0)=—4
f-9=0
€[4 =0

f(0) =4

)

2 —




‘l Totl quesd

Question No §

Solve -02<0.7-x= 148




Question No. 12

T qesons  san 18 | i 18 ?\ 2,_,,/ O\ 3\5_)\ >

Lt a € R\[1}. Find the value of o
flz) = 2 4 (1 - a)r” 4 a"x ]

()2 . ,,_J/_;J\{ 059" A

f6) = sPa3r it

n <2

-’LS \ L)(}-Hc-\-l)
S Q—Db\c .-




e \cj oy AP

‘4/81 l-e &

s
4 EGE S

X+ e cf+°x>

Gz,l)r‘t =2
3
> ok 42
[—-‘2} «1:')
C{—\—: R V

2 =1



NO. 29

set of the following inequality

Determine the solution
| —4—x<—X
5 SE= (_wr'—4)
Qs = (—o0,0)

19 g = (4"13) 5

S=9¢




Total questions in exam- 25 | Answered: 23
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Question No. 16
Let a RGvebval of a such that the nt (1, 1) belongs to both lines a z+a’y =6 and @

(\)_, g\)gxoswf
Q(\5+&( c

SN
=G




Question No. 15

fa<beo solve the inequality Z-a)(z-t)

T X0, for z.
f“\’.«l]
2. 8] U (¢, o)
la, ) e
i \.rl} ) [/;.,')

-




U cog oo >\_J§\ (SPrm Sk
2 .3« Y

G-1)(x-3) S @ LS
K~y

>2-2:> X=

N
UL,\QD_«;)(,\AQ\\Q'@/\;J@Q; >4

.g:eM A5y ~Rs sas (Pl | 10>\ S

[ S
&t ¢ — L

o > @D 2 Y &

J@Q\ 6PV VG, X s G_@J}JJL
D&oﬂ‘»«%w\ > 5

‘\_) 3—3__) \

D
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| Question No. 10

If 5 isazeroof f(x)= X

3_gx?2+11x+ 20; then other zeros are

o)




Question No. 25

Lot b € R\{}}. Give the value of b such that the line y

:

"30-4

///// '

= (4b - 5)z 4 2 is perpendicular to the line bx — y = 3.






remaindor theorom to evaluate




= G225
\@1, L(H-\}1 £ &(\—\—\S — (Q%'l\
?\{\7\‘.(‘62)}
72— L x/&‘“\"\ ‘/é -2
&=

-9 -2\ v o

E@ 5




Question No. 11

he solutior

(-*,10] U [2,=

(-*,2) U [10,%
¥ (-=0]U[12,=

(-*,12) U [0,

VSetof-4|6 - x| +4<-2014s

—q[€-x| < 1Y







Total questions in exam: 25 | Answered: 0

12
r

Find the axis of symmetry of y = 2(x — 5)2 + 3

Eh

Question No. 17

oS 0




e

| Question No. 14

| IE/0)— \x+2 andgo) = 3x 5. Findh(x)=(g /()

R ey

& W)= 34xz2-5

bty =1« |

B(x)=3/x +3




Question No. 22

”
Write the equation of this parabola in vertex form.

et

1
1
1
I I
Y WV
1 : (3 Vil L)

S EEEE X i 2()(_3;) o "L

=2(x+3)*+2
(x—3)*-2
2(x+3)*—2
5

2(x—3)*—2
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A\v
v
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